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e Please check that this question paper contains 4 printed pages.

e Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

e Please check that this question paper contains 19 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i) Attempt all sections.
(ii) lllustrate your answer wherever possible.
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SECTION - A

T & 7 TTeAd §d1sY. | Tt T941 bl Bt <hIFT |

State true or false. Attempt all questions.

1. S-scd e WiewH freen o ushbia foh rd & |

Bundles are assembled in unit production system.

2. HITE e Hid shl J¥ hl 3CTEWT 2 |

Kangaroo pocket is an example in-seam pocket.

3. leh et AT fireTs o foru s feman S Eesar 2 |

Lock stitch can be used for precise stitching.

4. |iohn a3fi Hue hi wtdl ) et o 379 fra shl aitasin uens &) fsham o sl 2 |

Serging machine stitches the fabric layers and finishes the raw edges in one operation.

5. o 1 framficT Jek goe g el ST R |

Functional yoke in a garment is always cut double.

gig -9
SECTION - B

sf wfere I T |

Write very short answers

6. RIR 9 SifeT / Afee § 3R Famsy |

Give the difference between / fusing and bonding / welding.

7. hIS 3% ITH TS R 1 Rl 9Ty |
AYAl
T g B & 2 I6 o § S 37 At fehegl a1 il TgTeeh % A1 STy |
What is the function of feed off arm sewing machine ?

OR
What are work-aids ? Name any two work-aids used in garment construction.

8. T % TG IE hied o ATH q1sU |

Give the importance of cutting the garment on grain.
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9. WY STfEN 9 I HIHT § 3T Iq13T | 2

Give the difference between bias binding and bias facing.

10. TR % HUS I AT HT STTHH TR & foTT i & 719 6 T8 Bt 8 7
YT
319 To1T Fpat s o foTe U sh1 AT 31HM oFfTH & T o A il TE@ Bl 8 7 2
Which measurements are required for calculating fabric for a salwar ?

OR
Which measurements are required for calculating fabric for a kurta for yourself.

gug — T
SECTION - C
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Write short answers in 50-75 words each.

11. TSI 1 Bl 8 ? a8 AT 9 $eXtengt-m ¥ fore ypr =1 & 7 3

What is underlining ? How is it different from lining and interlining ?

12. =& Frmior < afeamst T | 96 o & W shl g SIS | 3
YAl
TTehT, HTeht ST o T1— 3T shi TRTET ST |
Define garment construction. List basic components of a garment.

OR
Define Marker, Marker making and a Layout.

13. =M eh ol Hewaqol fomvard wiqrsy | 3

Give important characteristics of Chain stitch.

14. WA ATk T3 o AFT 3T ATk I H A=< §dTsT | 3

Give the difference between flat lock machine and safety over lock machine.

15. %A i Tt 31 @1 1 IR § SR 3 arett fafi= Jenr <t BRi 6t gt sAmET |
AU
TS| il efferton i | sredres i <61 T Sereer ST | 3

List various types of facings that can be used for finishing the neckline of a garment.
OR
Classity Sleeves. Give one example of each class.
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16.

17.

18.

19.
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Write descriptive answers in 100-150 words :

Ife e faken it Tiifee sea fiten § 3t amsy |

Give the difference between unit production system and progressive bundle system.

ST Tl T 319 91 FHSA & ? T8N <hl Il 1 il Foll ST |

What do you understand by work flow ? Give the work flow of a Gent’s shirt.

frferiiga # @ fopel Q o1 sy :
() IR TS o e wefie

(ii) SATSS ZTohT GUTS Ff

(ili) & IS g

Explain any two of the following :
(1)  Over edge bed sewing machine

(i) Blind stitch hemming machine

(ii1)) Button hole machine

Tl o [T U Sh AN TG 9 TR STl ol &I H W&l ? 3R AA-3TThe G
=Igrs % Hus T few@rsy |
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What points will you keep in mind for calculating the fabric for a trouser ? Show it’s
layout on double width fabric.

OR

What points will you keep in mind for calculating the fabric for a full-length dress with
full length sleeves ? Show its layout on 36" width fabric.




